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SET -3
e A,

Series : GBM/1/C codeno.  04/1/3

e Tliegeff whre w1 IT-YETHI o TI-TS

Roll No. T e |

Candidates must write the Code on
the title page of the answer-book.

®  HUAT I L T foh 30 Te-T H Yfgd TS 12 & AT 2 T3 AT o @ |

® -3 H qife BT <hl 3TN T T SIS TR hl BT IT-f&Tehl < JE-T8 W o7 |

® U ST HL A o T IA-TA F 22 WA F |

® AT I Tl IR (TG Y& A § T8, T I AT a9 ford |

® U YYH-UH I UeH o fo1C 15 fire 1 aw ez T ® | ye-v w1 foaawn g@ig ® 10.15 991
ToRaT ST | 10.15 19T | 10.30 St Toh BT halel Y- ol Tl 3R 39 31af¥ o g o
IA-YfETehT T hIE TR 4! fore |

e Please check that this question paper contains 12 printed pages and 2 pages of maps.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 22 questions.
e Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

e (BgTi<ieh)

GEOGRAPHY (Theory)
Reffa g - 3 g2 erban 3% 70

Time allowed : 3 hours Maximum Marks : 70

Wﬁiﬂ:
(i) FTFT-TAHFA22F978 |
(ii) T FFT FHTHE |
(iii) ¥~ 1 @ 7 3717 o7 I 597 & | e o7 1 37 &1 8 | T Jo7 T I 40
5G] @ 3718 &1 &1 TR |
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(iv)

(v)

(vi)

(vii)

FoT-g& 8 @ 13 &g IT0T J97 & | Fedb Jo 3 3] BT 8 | 579 @ T o G
STTETRT 5797 8 | % F97 7 IR 80 - 100 7151 & 378 781 51 =1feq |

Jo7-G&FT 14 8 20 5 3507 597 & | 9% J97 5 b H1 & | Ideh F94 &7 I 150
5755 @ 3718 787 81T =130 /

FeT-GEIT 21 3R 22 HATE] W GE= a7 B0 77 e [&omarsi @
FIIT J77 & | 5o JoT 5 7] BT E |

37191 15T 7T 19e 79T YR 3 3GT T B I GI&iT & G Savd &2 [

(viii) IGT-HFIE] & IGTh & 1070 R I7 2FTcigd & 91T 1 3FAIT & Tt & 1

General Instructions :

(i)
(ii)
(iii)

(iv)

(v)

(vi)

(vii)

There are 22 questions in all.
All questions are compulsory.

Question numbers 1-7 are very short answer questions carrying 1 mark each.
Answer to each of these questions should not exceed 40 words.

Question numbers 8-13 are short answer questions carrying 3 marks each. Out of

which one question is a value based question. Answer to each of these questions
should not exceed 80-100 words.

Question numbers 14-20 are long answer questions carrying 5 marks each. Answer
to each of these questions should not exceed 150 words.

Question numbers 21 and 22 are related to identification or locating and labelling of
geographical features on maps carrying 5 marks each.

Outline maps of the World and India provided to you must be attached within your
answer-book.

(viii) Use of templates or stencils for drawing outline maps is allowed.

1. A Tk o feheal &1 g Toigatl o1 Ieoid shifvT | Vhtlh=1

Mention any two key areas of human development.

2. g UST NG SR FATST o TR &1 H GouI ehl STUEIT AlGATST shi T 3% T4
2 7 T Haw fofen | 1

Why is the number of females more than males in urban areas of U.S.A. and Canada ?
Give one reason.

3. ‘=qd foramehetma’ reg bt uftuTi Shifsre | 1
Define the term ‘Quaternary Activity’.
N . 1 1
4. IS AR o B8l a1 AT b1 Seoi <hifvTy | 2+5 =1

State any two advantages of ‘International Trade’.
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“WTA T T - foeeht SR 1 99TeH | 95d IR 8 |7 =IRIETd S80Sy | 1

“Indian seaports are highly valuable in handling foreign trade.” Justify.

6. VIRAH ‘FEI SHEEI T’ <h TG HIRT | 1
Explain the term ‘agricultural density of population’ in India.
7. “hie IR ST § H1ear ¢ WA o 371 T ! 70T 371 3 |7 T iU | 1
“Kerala and Mizoram have higher literacy rate than other states of India.” Explain.
8.  “afe & TR RIS 1 ITANT TEIH F €I § Hid & 37 ST TGIAN L &, dl I8
A | S b foTT gd ITFT 81T |7 36 e <h gfse hifu | 3
“If we treat the urban waste as a resource and utilize it properly it will be highly
valuable to people in India.” Support the statement.
9. TR g1 o fehegl di AT o Gui SHIfTT | 3x1=3
Describe any three functions of urban centres.
10. 1= & 8 At w1 SreA hifsT SR 3 e few T et % 3T fofan 3
WA — STITER W& SR TR <hl T T Ieht SHEEAT, 2001
o ) ) SEE TR i gfg
MEET SR | W | (qmemE) | SEenE % | (1991-2001)
il 5161 285.35 100 31.13
1AM ' '
I 1,00,000 3TR 3Aferes | 423 172.04 61.48 23.12
II 50,000 - 99,999 498 34.43 12.3 43.45
111 20,000 - 49,999 1386 41.97 15.0 46.19
1\ 10,000 - 19,999 1560 22.6 8.08 32.94
\4 5,000 - 9,999 1057 7.98 2.85 41.49
VI |5,000 §%H 227 0.8 0.29 21.21
(10.1) W H -1 o TR bl T fefau |
(10.2) WA T o TohT o1 T GT{eIeh THIT SHEEHT ITS STl 8 2
(10.3) TRI % 39 =71 | Gaifereh T ST o B o G SHRUT bl T HIRAT |
1+1+1=3
Study the table given below and answer the questions that follow :
India - Class-wise number of towns and cities and their population, 2001
64/1/3 3 [P.T.O.
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Population | % of total % Growth
Class Population Size | Number | (Million) Urban (1991-2001)
Population
All
classes 5161 285.35 100 31.13
Total
I 1,00,000 and 423 172.04 61.48 23.12
more
II 50,000 - 99,999 498 34.43 12.3 43.45
111 20,000 - 49,999 1386 41.97 15.0 46.19
v 10,000 - 19,999 1560 22.6 8.08 32.94
A" 5,000 - 9,999 1057 7.98 2.85 41.49
VI Less than 5,000 227 0.8 0.29 21.21

(10.1) Write the number of class III towns in India.

(10.2) Which class of Indian towns accommodate highest number of urban population ?

(10.3) Explain the main reason for the largest urban population in this class of towns.

e FfaRad e e gfeesiim whafeR o foTe e S 10 6 T IH W g -
(10.1) R T S a1 bl AT 1 IooT@ hIWTT |

(10.2) -II1 o TR <hl SHHEAT 1 ATHR FT 8 ?

(10.3) ¥Rd o fopet weh T TR’ o1 A feAfaw |

Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 10

(10.1) Mention the number of classes of Indian towns.

(10.2) What is the population size of class III cities ?

(10.3) Name any one ‘mega city’ of India.

11, weRefia fyeearg o fhegl di aeati i samen hifu |

Explain any three aspects of environmental determinism.
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12, “gfen meft T HAE &7 1 T s 5 IRy B9 ¥ 3geh! urifeafaehl, srderewen qun
AT EARA & 1 8 |7 39 e h gersy i |
“The introduction of irrigation in the Indira Gandhi Canal Command area has
transformed its ecology, economy and society.” Analyse the statement.

13.  |da Iefi T o Tt /a1 61 “Geshr 3R GHET | S8 HHE qedi i ST
SHifeT |
Explain the human values associated with the ‘recycling and reuse’ of water for the
sustainable development.

14, I TERTEh! T 1 fehegl Ui forivaraii sl e I | 5x1=5
Explain any five characteristics of high tech industry.

15, “WIS TUEY WTEAan ST fRm 8, W fovd TR WX WIS |Ew S AT HEd el
2 1”7 39 YA I THIRTG HIfT |
“Gathering is the oldest economic activity but it has little chance of becoming
important at the global level.” Substantiate the statement.

16. = few u amfam w1 srea hifsre 3 3ges = feuw o gwat & 3o farfige
(16.1) &L gHI 1ol o ferd gl ol o A fotfam |
(16.2) 8 T&X foper ¢ H srafea § 7
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(16.3) TSl T&X AR i Gt STHR SR TR § Gorrs, T 3R gl o Fewl H i |
1+1+3=5

Study the map given below and answer the questions that follow :

Medite,,

a
Delta of the Nile 620 S,
\@7

T ToAsia

Bir Hassan Lake®
Great
% Bitter Lake

s W\ ] Litle
N ¥ Bitter Lake
e CAIRO [

e SHIP CANAL e Ain Musa
e RAILWAY S

~— FRESH WATER CANAL

Km 50 0 50 Km
—

(16.1) Name the seaports on the both ends of the canal.
(16.2) In which country this canal is located ?

(16.3) Compare the Suez Canal route with that of Cape of Good Hope route in terms

of haulage, time and distance.

Me:  FmafaRed e haa gfeestfia adhenfE < fore T @ 16 % WH R E :
(16.1) TS Ttk g Rl WX Fera |ggioi o W fotfau |
(16.2) T fra e fRE g ?

(16.3) 3H T8 o SHTYTIh Hawel sh1 AU I | 1+1+3=5
Note : The following questions are for the visually impaired candidates only in lieu
of Q. No. 16

(16.1) Name the seaports located on the both ends of Suez Canal.
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(16.2) In which country this canal is located ?

(16.3) Describe the commercial significance of this canal.

17. 9Rd H TN 3R AfGAT3Ti o JaTd o &I SHRUI ohi W@ HIT |

Examine the main causes of male and female migration in India.

18. = < 7S grefl w1 srewa <hifse 37 3ges 9 feu T gei o 3o farfig

2% +2Y2=5

WA 3 gRT 1970-1971 8 2010-2011 H I8 fhT 71T AT (M1€1) (HAS A1 H) a0

A (S H) % TaTg i Aef

A /90 1970-71 2010-2011
HIIAT 4.79 268.3
et Tl & foTe =t Are 1.61 9.8
AT AlET T IR e 6.2 32.2
g T 9.8 46.4
e 11 57.0
ECIBIG 15.1 52.0
EEIC) 4.7 40.7
ugiform 8.9 26.1
I TEY 48.2 52.3
EEIGIEIGE 167.9 584.7
I ITHA /T (HUS ) 2431 7651.1

64/1/3

(18.1) & gRT 1970-71 | &L 2010-11 o Toha 7g 31 garTs | e <hl Wafa feams 8

7

(18.2) & gRT 1970-71 & 2010-11 3 AL GaATS i Fohd Tig § Taifers < gig fe@ms m8

77

(18.3) 39 HE H goTTs H 55 Ak gfg o RV o1 SR HIFT |

Study the table given below and answer the questions that follows :

1+1+3=5

Trends of Freight (in million tonnes) and passengers (in millions) handled by the
Indian Railways from 1970-1971 to 2010-2011 :

7
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2010-11
Commodities 1970-71
(Provisional)

Coal 47.9 268.3
Raw Material for Steel Plants 16.1 9.8
Pig Iron and finished steel 6.2 32.2
Iron ores 9.8 46.4
Cement 11 57.0
Food grains 15.1 52.0
Fertilizers 4.7 40.7
Petroleum 8.9 26.1
Other goods 48.2 52.3
Total traffic 167.9 584.7
Passengers Originating/True (in crore) 2431 7651.1

(18.1) Which commodity of freight has shown the declining trend by railways from

1970-71 to 2010-11 ?

(18.2) Which commodity of freight has shown the highest increase in tonnes by

railways from 1970-71 to 2010-11 ?

(18.3) Explain the causes for the highest increase of freight in this commodity.

e ;. Trfaiaa s e gfeeafoa wemf o foe e Je 18 6 ®M W g

(18.1) U A HI R AL ?

(18.2) TSI ST <! ToEId S5 § FGTT T Teh HIUT T FHIT |
(18.3) SATIR bl SiGH T {eAl o HeEwd shl T HIfT |

1+1+3=5

Note : The following questions are for the visually impaired candidates only in lieu of

Q.No.18:
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19.  9RA H T <1 Y o foTu Tawees Himiferes enaii 3R IcTe &1 1 U hIT | 3+2=5
Describe the required geographical conditions and areas of production of sugarcane
cultivation in India.

20. G o O T T Y 7 7 TR hY G o ferawor b1 yuiferd o aret Himiferes
hTThi sh! ST ShHITT | 1+4=5
What is the meaning of density of population ? Explain the geographical factors which
influence the distribution of population in the world.

21. GER % TSHITdeh {@T-THRE § gie imfaes @&l &1 A, B, C, D 3R E & fe@mn wn
2 | 37 &1 ol e € T8 TR <hl Heg W U 3T 37k Tal 9, 3ok fehe Gl
T8 T3t W fafa - 5x1=5
(A) TaTe | =1 T &

(B) 3TShiehl § T8 i SEcd Tl &

(C) Tk YR-HEEY {eTHHT

(D) T EeITSoH

(B) Ush GHgia<H

The five geographical features have been shown on the political outline map of world as
A, B, C, D and E. Identify them with the help of the information given below and write
their names correctly on the lines drawn near them :

64/1/3 9 [P.T.O.

(18.1) What is the meaning of metro rail ?
(18.2) Explain one reason for replacing steam engines with electric engines.

(18.3) Explain the significance of railways in promoting trade.
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(A) Anarea of subsistence gathering.

(B) The country in Africa having the lowest density of population.

(C) A transcontinental railway

(D) An Airport

(E) A Seaport

e : Fretferian e Sherer g i 3 e Se G 21 % T wE -
(21.1) HERH foret ueh THate dugw & w1 A fafew |

(21.2) 3T5hYeRT H T A SO o1t ¢ o1 A8 ffgu |

(21.3) TR T a8 oI TR-HETE 1 or|nt w1 1 fofaw |

(21.4) 9T o foret T Tg@ EATETTH h1 oot ST |
(21.5) STSiict o Tohe! Teh Y@ FHZUT 1 Seoid hiITT, |

Note : The following questions are for the visually impaired candidates only in lieu of
Q. No. 21

(21.1) Name any one area of subsistence gathering in the world.

(21.2) Name the country in Africa having the lowest density of population.
(21.3) Name the longest trans-continental railway in the world.

(21.4) Mention any one major airport of Japan.

(21.5) Mention any one important major seaport of Brazil.

22. WA % fou e it War-amtem 7 freafafead S sufeafs sugsa foei @ femmse sk
3o M faIfgu 1x5=5

() 2011 6 ST o TR G TR TTEET b T STl T
64/1/3 10
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(i) AT foRRTE GehTeh o HIfEHA H Halred WR ATAT TT

(i) HEAT 1 JHUT{ 3G T

(v) TSI H Tl IT0 dfen T &

(V) U ¢ HHGITH

Locate and label the following features on the given political outline map of India with

appropriate symbols :

(1)
(i)
(i)
(iv)
(v)

The state with highest percentage of urban population as per 2011 Census.
The state with highest level of H.D.I.

The state which is the leading producer of coffee.

An important northern most copper mining area in Rajasthan.

A riverine seaport

e« Trefeiaa s et gfeeanfera whemfi o foe we s 22 % S M W e

(22.1)

(22.2)

(22.3)

(22.4)

(22.5)

Note :

(22.1)

(22.2)

64/1/3

AT o GaIfereh T G & Tidqsid ot T3 ol A feflay |

AT TorshTE Feh1eh oh HITCHHA H Halie TR aTel T 3l Ieoid hiT |

W <1 S H1 T4 shgdl &1 301l IcqTeh & 7

TR | Feret Teh HEwaqut die @A & 1 Seoid iU |

I o T4 TS a7 1 4 fafa |

The following questions are for the visually impaired candidates only in lieu
of Q. No. 22 :

Name the state of India having the highest percentage of urban population.

Mention the state of India having the highest level of H.D.I.
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(22.3) Which state of India is the leading producer of coffee ?
(22.4) Mention any one important copper mining area in Rajasthan.

(22.5) Name the riverine seaport of India.
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% ¥, 22 % fotw At
Map for Q. No. 22
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